

# Generalized inverses and their relations with clean decompositions

Huihui Zhu<sup>a,\*</sup>, Honglin Zou<sup>b</sup>, Pedro Patrício<sup>c</sup>

<sup>a</sup>*School of Mathematics, Hefei University of Technology, Hefei 230009, China.*

<sup>b</sup>*School of Mathematics and Statistics, Hubei Normal University, Huangshi 435002, China.*

<sup>c</sup>*CMAT-Centro de Matemática and Departamento de Matemática e Aplicações, Universidade do Minho, Braga 4710-057, Portugal.*

---

## Abstract

An element  $a$  in a ring  $R$  is called clean if it is the sum of an idempotent  $e$  and a unit  $u$ . Such a clean decomposition  $a = e + u$  is said to be strongly clean if  $eu = ue$  and special clean if  $aR \cap eR = (0)$ . In this paper, we prove that  $a$  is Drazin invertible if and only if there exists an idempotent  $e$  and a unit  $u$  such that  $a^n = e + u$  is both a strongly clean decomposition and a special clean decomposition, for some positive integer  $n$ . Also, the existence of the Moore-Penrose and group inverses is related to the existence of certain  $*$ -clean decompositions.

*Keywords:*

Drazin inverse, group inverse, Moore-Penrose inverse, strongly clean decomposition, special clean decomposition

*2010 MSC:* 15A09, 16W10, 16U99, 16W99

---

## 1. Introduction

Throughout this paper, we assume that  $R$  is a ring with unity 1. Recall that an element  $a$  of  $R$  is called clean if it is the sum of an idempotent  $e \in R$  and a unit  $u \in R$ . Such a clean decomposition  $a = e + u$  in a ring  $R$  is called strongly clean [10] if  $eu = ue$  and special clean [2] if  $aR \cap eR = (0)$ . A ring

---

\*Corresponding author

*Email addresses:* [hhzhu@hfut.edu.cn](mailto:hhzhu@hfut.edu.cn) (Huihui Zhu), [honglinzou@163.com](mailto:honglinzou@163.com) (Honglin Zou), [pedro@math.uminho.pt](mailto:pedro@math.uminho.pt) (Pedro Patrício)

is said to be clean if all its elements are clean. This definition dates back to the paper of Nicholson [9].

An involution  $a \mapsto a^*$  in  $R$  is an anti-isomorphism of degree 2, that is,  $(a^*)^* = a$ ,  $(ab)^* = b^*a^*$  and  $(a+b)^* = a^*+b^*$  for all  $a, b \in R$ . We say that  $R$  is a  $*$ -ring if there is an involution on  $R$ . An element  $p$  in a  $*$ -ring  $R$  is called a projection if  $p^2 = p = p^*$ . In 2010, Vaš [15] introduced  $*$ -clean elements and strongly  $*$ -clean elements by substituting “a projection” for “an idempotent” in the appropriate concepts. Also, a  $*$ -clean decomposition  $a = p + u$  in a  $*$ -ring  $R$  is called special  $*$ -clean if  $aR \cap pR = (0)$ .

Let us now recall some notions of generalized inverses. An element  $a \in R$  is (von Neumann) regular if there exists an element  $x \in R$  such that  $a = axa$ . Such an  $x$  is called an inner inverse of  $a$ , and is denoted by  $a^-$ . By the symbol  $a\{1\}$  we denote the set of all inner inverses of  $a$ .

We say that  $a \in R$  is Drazin invertible [7] if there exist  $b \in R$  and a nonnegative integer  $k$  such that

$$(i) a^k = a^kba, (ii) bab = b, (iii) ab = ba.$$

Any  $b$  satisfying (i)-(iii) is called a Drazin inverse of  $a$ . It is unique if it exists, and is denoted by  $a^D$ . The smallest nonnegative integer  $k$  is called the Drazin index of  $a$  and is denoted by  $\text{ind}(a)$ . It is well-known that  $a \in R$  is Drazin invertible if and only if there exists some positive integer  $m$  such that  $a^m \in a^{m+1}R \cap Ra^{m+1}$ . We call  $a$  group invertible if it is Drazin invertible and  $\text{ind}(a) = 1$ . The group inverse of  $a$  is denoted by  $a^\#$ .

Following Penrose [11], an element  $a$  of a  $*$ -ring  $R$  is Moore-Penrose invertible if there exists some  $x \in R$  satisfying

$$(i) axa = a, (ii) xax = x, (iii) (ax)^* = ax, (iv) (xa)^* = xa.$$

An  $x$  satisfying (i)-(iv) is called a Moore-Penrose inverse of  $a$ . It is unique if it exists, and is denoted by  $a^\dagger$ . We call  $a$  to be  $\{1, 3\}$ -invertible if it satisfies the conditions (i) and (iii). Such an  $x$  is a  $\{1, 3\}$ -inverse of  $a$  and is denoted by  $a^{(1,3)}$ . Similarly,  $a$  is  $\{1, 4\}$ -invertible if it satisfies the conditions (i) and (iv). Such an  $x$  is a  $\{1, 4\}$ -inverse of  $a$  and is denoted by  $a^{(1,4)}$ . It is known that  $a$  is Moore-Penrose invertible if and only if it is both  $\{1,3\}$ -invertible and  $\{1,4\}$ -invertible. In this case,  $a^\dagger = a^{(1,4)}aa^{(1,3)}$ . By  $R^{-1}$ ,  $R^D$ ,  $R^\#$  and  $R^\dagger$  we denote the sets of all invertible, Drazin invertible, group invertible and Moore-Penrose invertible elements in  $R$ , respectively.

Over the last decade, many authors [2, 3, 5, 9, 10, 14, 15] studied the cleanness and  $*$ -cleanness of elements. As idempotents, projections and units

can be constructed by generalized inverses of an element, then generalized inverses of an element can be related to its cleanness. For example, [5, Propositions 2.5 and 2.6] and [6, Theorem 5.5] relate generalized inverses of elements with the parts of the clean decomposition of these elements. Motivated by this, we aim to further study relations between generalized inverses of an element and its clean decomposition.

The paper is organized as follows. In Section 2, we prove that  $a \in R^D$  if and only if there exist an idempotent  $e$  and a unit  $u$  such that  $a^n = e + u$  is both a strongly clean decomposition and a special clean decomposition, for some positive integer  $n$ . Moreover,  $a^n$  is proved to be uniquely strongly clean. In Section 3, we show that  $a \in R^\dagger$  if and only if  $aa^*$  has both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition, under certain assumptions. Further,  $a \in R^\# \cap R^\dagger$  if and only if  $a^2a^*$  has both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition, under the assumption of the right strongly  $*$ -cancellability of  $a$ . As a special case, a characterization of EP elements is given.

## 2. The Drazin inverse of an element and its cleanness

We begin with the following known lemma, which plays an important role in the sequel.

**Lemma 2.1.** *Let  $a, b \in R$ . Then*

- (i) *If  $(ab - 1)x = 1$  for some  $x \in R$ , then  $(ba - 1)(bxa - 1) = 1$ .*
- (ii) *If  $y(ab - 1) = 1$  for some  $y \in R$ , then  $(bya - 1)(ba - 1) = 1$ .*

By Lemma 2.1, we know that  $ab - 1 \in R^{-1}$  if and only if  $ba - 1 \in R^{-1}$ . In this case,  $(ba - 1)^{-1} = b(ab - 1)^{-1}a - 1$ . This formula is known as Jacobson's Lemma.

The following characterization of the Drazin inverse of a ring element is slightly different from the classical existence of Drazin inverse of matrices over a ring [12, page 107]. Herein,  $a^{2n}(a^n)^- + e \in R^{-1}$  is proved to be equivalent to  $a^{n+1} - e \in R^{-1}$ , where  $e = 1 - a^n(a^n)^-$ .

**Lemma 2.2.** *Let  $a \in R$ . Then the following conditions are equivalent:*

- (i)  *$a \in R^D$  with  $\text{ind}(a) = n$ .*
- (ii)  *$n$  is the smallest positive integer such that  $a^n$  is regular and  $u = a^{n+1} - 1 + a^n(a^n)^- \in R^{-1}$ .*

(iii)  $n$  is the smallest positive integer such that  $a^n$  is regular and  $v = a^{n+1} - 1 + (a^n)^- a^n \in R^{-1}$ .

In this case,  $a^D = u^{-1}a^n = a^n v^{-1}$ .

PROOF. (i)  $\Rightarrow$  (ii) As  $a \in R^D$  and  $\text{ind}(a) = n$ , then  $a^n = a^n a a^D = a^n (a a^D)^{n+1} = a^{2n+1} (a^D)^{n+1}$ . Also,  $a \in R^D$  implies that  $a^n$  is regular with  $(a^D)^n \in a^n \{1\}$ . It follows from Lemma 2.1 that  $a^{n+1} - 1 + a^n (a^n)^-$  is right invertible if and only if  $a^{2n+1} (a^n)^- - 1 + a^n (a^n)^-$  is right invertible since  $a^{n+1} = a^n (a^n)^- a^{n+1}$ . Note that  $(a^{2n+1} (a^n)^- - 1 + a^n (a^n)^-) (a^n (a^D)^{n+1} (a^n)^- - 1 + a^n (a^n)^-) = 1$ . So,  $a^{n+1} - 1 + a^n (a^n)^-$  is right invertible. Similarly, we can show that  $u = a^{n+1} - 1 + a^n (a^n)^-$  is left invertible using  $a^n = (a^D)^{n+1} a^{2n+1}$ . So,  $u = a^{n+1} - 1 + a^n (a^n)^- \in R^{-1}$ .

(ii)  $\Leftrightarrow$  (iii) follows from Lemma 2.1.

(iii)  $\Rightarrow$  (i) If  $v = a^{n+1} - 1 + (a^n)^- a^n \in R^{-1}$ , then  $a^n v = a^{2n+1}$  and hence  $a^n = a^{2n+1} v^{-1} \in a^{n+1} R$ . Since  $u = a^{n+1} - 1 + a^n (a^n)^- \in R^{-1}$ , we have  $a^n = u^{-1} a^{2n+1} \in R a^{n+1}$ . Thus,  $a^n \in a^{n+1} R \cap R a^{n+1}$ , that is  $a \in R^D$ .

As  $u a^n = a^{2n+1} = a^n v$ , then  $u^{-1} a^n = a^n v^{-1}$ . Next, we show that  $z = u^{-1} a^n = a^n v^{-1}$  is the Drazin inverse of  $a$  with  $\text{ind}(a) = n$ .

(1) Note that  $u a^{n+1} = a^{2n+2} = a^{n+1} v$ . Then  $u^{-1} a^{n+1} = a^{n+1} v^{-1}$ . Hence  $z a = u^{-1} a^{n+1} = a^{n+1} v^{-1} = a a^n v^{-1} = a z$ .

(2)  $z a z = a^n v^{-1} a a^n v^{-1} = u^{-1} a^n a^{n+1} v^{-1} = u^{-1} a^{2n+1} v^{-1} = u^{-1} a^n = z$ .

(3)  $a^{n+1} z = a^{n+1} a^n v^{-1} = a^{2n+1} v^{-1} = a^n$ .

Therefore,  $a^D = u^{-1} a^n = a^n v^{-1}$ .  $\square$

It follows from Lemma 2.2 that  $a \in R^D$  implies  $a^m - 1 + a a^D \in R^{-1}$  for some positive integer  $m$ . Applying this result, we present the relations between the Drazin inverse of an element and its clean decomposition in a ring.

**Theorem 2.3.** *Let  $a \in R$ . Then the following conditions are equivalent:*

(i)  $a \in R^D$ .

(ii) *There exist an idempotent  $e$  and a unit  $u$  such that  $a^n = e + u$  is both a strongly clean decomposition and a special clean decomposition, for some positive integer  $n$ .*

*In this case,  $a^D = a^n (a^{n-1} u^{-1})^{n+1} = (u^{-1} a^{n-1})^{n+1} a^n$ .*

PROOF. (i)  $\Rightarrow$  (ii) Suppose  $a \in R^D$ . It follows from Lemma 2.2 that  $u = a^n - 1 + a a^D \in R^{-1}$  for any integer  $n > \text{ind}(a)$ . Let  $e = 1 - a a^D$ . Then

$a^n = e + u$  is a clean decomposition. By a direct check, we get  $eu = -e = ue$  and hence  $a^n = e + u$  is a strongly clean decomposition. Given  $b \in eR \cap a^n R$ , then  $b = (1 - aa^D)x = a^n y = (1 - aa^D)a^n y = 0$  for some  $x, y \in R$ . So,  $a^n = e + u$  is also a special clean decomposition.

(ii)  $\Rightarrow$  (i) As  $a^n = e + u$  is a strongly clean decomposition, then  $ea^n = a^n e$ . By the special cleanness of  $a^n = e + u$ , we know  $eR \cap a^n R = 0$ . Hence,  $ea^n \in eR \cap a^n R = (0)$ . Multiplying  $a^n = e + u$  by  $a^n$  on the right yields  $a^{2n} = ua^n$  and hence  $a^n = u^{-1}a^{n-1}a^{n+1} \in Ra^{n+1}$ .

Also,  $a^n = a^{2n}u^{-1} = a^{n+1}a^{n-1}u^{-1} \in a^{n+1}R$  by the commutativity of  $u$  and  $a^n$ . So,  $a \in R^D$  and  $a^D = a^n(a^{n-1}u^{-1})^{n+1} = (u^{-1}a^{n-1})^{n+1}a^n$ .  $\square$

**Corollary 2.4.** *Let  $a \in R$ . Then the following conditions are equivalent:*

- (i)  $a \in R^D$ .
- (ii) *There exist  $e^2 = e \in R$  and some positive integer  $n$  such that  $a^n e = ea^n = 0$  and  $a^n - e \in R^{-1}$ .*
- (iii) *There exist  $e^2 = e \in R$  and some positive integer  $n$  such that  $a^n e = ea^n = 0$  and  $a^n + e \in R^{-1}$ .*

PROOF. (i)  $\Rightarrow$  (ii) Take  $e = 1 - aa^D$ , and  $n > \text{ind}(a)$ , then the result follows from Lemma 2.2.

(ii)  $\Rightarrow$  (i) Let  $u := a^n - e \in R^{-1}$ . When multiplying the relation  $a^n = u + e$  by  $a^n$  on the left and right, we obtain that  $a^{2n} = ua^n = a^n u$ . So,  $a^n = u^{-1}a^{2n} = a^{2n}u^{-1} \in a^{n+1}R \cap Ra^{n+1}$ , which means  $a \in R^D$ .

(i)  $\Leftrightarrow$  (iii) is similar to the proof of (i)  $\Leftrightarrow$  (ii).  $\square$

Recall that an element  $a \in R$  is called uniquely strongly clean if it has a uniquely strongly clean decomposition (see [4]).

It follows from Theorem 2.3 that  $a \in R^D$  implies that  $a^n$  has a strongly clean decomposition, for some positive integer  $n$ . The following result shows that such a strongly clean decomposition is unique, under certain conditions.

**Theorem 2.5.** *Let  $a \in R^D$ . Then  $a^n$  is uniquely strongly special clean, for some positive integer  $n$ .*

PROOF. Suppose  $a \in R^D$ . Then, by Theorem 2.3, there exist an idempotent  $e$  and a unit  $u$  such that  $a^n = e + u$  is a strongly clean decomposition. Let  $a^n = f + v$  be another strongly special clean decomposition, where  $f = f^2$  and  $v \in R^{-1}$ . To show that  $a^n$  is uniquely strongly special clean, it is sufficient to prove  $e = f$ .

From Corollary 2.4, there exists some positive integer  $n$  such that  $ea^n = 0 = fa^n$ , and consequently  $a^n = (1 - e)a^n = (1 - e)(e + u) = (1 - e)u$ . Then  $1 - e = a^nu^{-1}$ . Multiplying  $1 - e = a^nu^{-1}$  by  $f$  on the left we obtain  $f(1 - e) = fa^nu^{-1} = 0$ , i.e.,  $f = fe$ .

Similarly, we have  $1 - f = v^{-1}a^n$ . Multiplying  $1 - f = v^{-1}a^n$  by  $e$  on the right yields  $(1 - f)e = v^{-1}a^ne = 0$ , i.e.,  $e = fe = f$ , as required.  $\square$

### 3. The Moore-Penrose inverse of an element and its \*-cleanness

Throughout this section, we assume  $R$  to be a \*-ring. It is known from [8, Theorem 5.4] that  $a \in R^\dagger$  if and only if  $a \in aa^*R \cap Ra^*a$ . It was proved [17] that  $a \in R^\dagger$  if and only if  $a \in aa^*aR$  if and only if  $a \in Raa^*a$ . In particular, if  $a = aa^*ax$  or  $a = yaa^*a$  for some  $x, y \in R$ , then  $a^\dagger = (ax)^* = (ya)^*$  (see [18, Theorem 3.12]).

An element  $a \in R$  is called left \*-cancellable if  $a^*ax = a^*ay$  implies  $ax = ay$ , and  $a \in R$  is called right \*-cancellable if  $baa^* = caa^*$  implies  $ba = ca$ . Moreover,  $a$  is left \*-cancellable if and only if  $a^*$  is right \*-cancellable. An element  $a \in R$  is \*-cancellable if it is both left and right \*-cancellable, which is equivalent to the implication  $a^*a = 0 \Rightarrow a = 0$ . A ring  $R$  is called \*-cancellable if every element of  $R$  is \*-cancellable. Recall that a ring is \*-cancellable is also said to have a proper involution (see e.g. [1]).

The following result presents the relation between \*-clean elements and Moore-Penrose invertible elements, under one-sided \*-cancellability.

**Theorem 3.1.** *Let  $a \in R$  be right \*-cancellable. Then the following conditions are equivalent:*

- (i)  $a \in R^\dagger$ .
- (ii) *There exist a projection  $p$  and a unit  $u$  such that  $aa^* = p + u$  is both a strongly \*-clean decomposition and a special \*-clean decomposition.*  
*In this case,  $a^\dagger = a^*u^{-1}$ .*

PROOF. (i)  $\Rightarrow$  (ii) As  $a \in R^\dagger$ , then  $p = 1 - aa^\dagger$  is a projection, and  $u = aa^* - 1 + aa^\dagger \in R^{-1}$  from [16, Theorem 2.3]. Hence,  $aa^* = p + u$  is a \*-clean decomposition. We have  $pu = -p = up$  by  $aa^*aa^\dagger = a(aa^\dagger a)^* = aa^*$ . So,  $aa^* = p + u$  is a strongly \*-clean decomposition. Let  $c \in (1 - aa^\dagger)R \cap aa^*R$ . Then there exist  $g, h \in R$  such that  $c = (1 - aa^\dagger)g = aa^*h = (1 - aa^\dagger)aa^*h = 0$ , that is,  $aa^* = p + u$  is a special \*-clean decomposition.

(ii)  $\Rightarrow$  (i) Suppose that  $aa^* = p + u$  is a strongly \*-clean decomposition. Then  $paa^* = aa^*p$ . Also, as  $aa^* = p + u$  is a special \*-clean decomposition,

then  $paa^* = 0$  since  $paa^* \in pR \cap aa^*R$ . Multiplying  $aa^* = p + u$  by  $aa^*$  on the left yields  $aa^*aa^* = aa^*u$ , which implies  $a^*aa^* = a^*u$  since  $a^*$  is left  $*$ -cancellable. Hence,  $a = (u^{-1})^*aa^*a$ , which guarantees that  $a \in R^\dagger$  and  $a^\dagger = ((u^{-1})^*a)^* = a^*u^{-1}$ .  $\square$

By Theorem 2.3, we get that  $a \in R^\#$  if and only if it has both a strongly clean decomposition and a special clean decomposition. Theorem 3.1 ensures that  $a \in R^\dagger$  if and only if  $aa^*$  has both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition, under the  $*$ -cancellability of  $a$ . It is natural to consider whether  $a \in R^\# \cap R^\dagger$  is equivalent to the statement that  $a^2a^*$  has both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition, under certain conditions. The following theorem addresses this problem. We will need the following lemma.

**Lemma 3.2.** *Let  $a \in R$ . Then the following conditions are equivalent:*

- (i)  $a \in R^\# \cap R^\dagger$ .
- (ii)  $a$  is regular and  $u = aa^*a - 1 + aa^- \in R^{-1}$ .
- (iii)  $a$  is regular and  $v = a^2a^* - 1 + aa^- \in R^{-1}$ .

PROOF. (i)  $\Rightarrow$  (ii) It follows from [16, Corollary 2.7] that  $a \in R^\dagger$  implies  $aa^* - 1 + aa^- \in R^{-1}$  and hence  $aa^*aa^- - 1 + aa^- \in R^{-1}$  by Jacobson's Lemma. Also,  $a \in R^\#$  implies  $a + 1 - aa^- \in R^{-1}$ . Hence, we have  $(aa^*aa^- - 1 + aa^-)(a + 1 - aa^-) = aa^*a - 1 + aa^- \in R^{-1}$ .

(ii)  $\Rightarrow$  (i) As  $u = aa^*a - 1 + aa^- \in R^{-1}$ , then  $t = a^*a^2 - 1 + a^-a \in R^{-1}$  by Jacobson's Lemma. Since  $at = aa^*a^2$ , it follows  $a = aa^*a^2t^{-1} \in aa^*aR$ , which means  $a \in R^\dagger$ . Again, by [16, Corollary 2.7], we get  $aa^* - 1 + aa^- \in R^{-1}$  and hence  $aa^*aa^- - 1 + aa^- \in R^{-1}$ . As  $a + 1 - aa^- = (aa^*aa^- - 1 + aa^-)^{-1}(aa^*a - 1 + aa^-) \in R^{-1}$ , it follows  $a \in R^\#$ , and consequently  $a \in R^\# \cap R^\dagger$ .

(i)  $\Leftrightarrow$  (iii) can be proved similarly.  $\square$

Let  $a \in R$ . We call  $a$  right square  $*$ -cancellable if  $ba^2a^* = ca^2a^*$  implies  $ba = ca$  for any  $b, c \in R$ . A ring  $R$  is said to be right square  $*$ -cancellable if all its elements are right square  $*$ -cancellable.

**Theorem 3.3.** *Let  $a \in R$  be right square  $*$ -cancellable. Then the following conditions are equivalent:*

- (i)  $a \in R^\# \cap R^\dagger$ .
- (ii) *There exist a projection  $p$  and a unit  $u$  such that  $a^2a^* = p + u$  is both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition.*  
In this case,  $a^\dagger = (u^{-1}a^2)^*$  and  $a^\# = (aa^*u^{-1})^2a$ .

PROOF. (i)  $\Rightarrow$  (ii) It follows from Lemma 3.2 that  $a \in R^\# \cap R^\dagger$  implies  $u = a^2a^* - 1 + aa^\dagger \in R^{-1}$ . Take  $p = 1 - aa^\dagger$ . Then  $a^2a^* = p + u$  is a  $*$ -clean decomposition. As  $pu = -p = up$ , then  $a^2a^* = p + u$  is a strongly  $*$ -clean decomposition. Moreover,  $pR \cap a^2a^*R = (0)$ . Indeed, for any  $n \in pR \cap a^2a^*R$ , we have  $n = px = a^2a^*y = pa^2a^*y = 0$  for some  $x, y \in R$ . Hence,  $a^2a^* = p + u$  is both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition.

(ii)  $\Rightarrow$  (i) As  $a^2a^* = p + u$  is a strongly  $*$ -clean decomposition, then  $pa^2a^* = a^2a^*p$ . From the special  $*$ -cleanness, we get  $pa^2a^* \in pR \cap a^2a^*R = (0)$ . Multiplying  $a^2a^* = p + u$  by  $a^2a^*$  on the right yields  $a^2a^*a^2a^* = ua^2a^*$ . From the right square  $*$ -cancellability of  $a$ , it follows that  $a^2a^*a = ua$  and hence  $a = u^{-1}a^2a^*a \in Raa^*a$ . So,  $a \in R^\dagger$  and  $a^\dagger = (u^{-1}a^2)^*$  by [18, Theorem 3.12].

Since  $ua^2a^* = a^2a^*a^2a^* = a^2a^*u$ , we get  $a^2a^*u^{-1} = u^{-1}a^2a^*$ . Hence,  $a = u^{-1}a^2a^*a = a^2a^*u^{-1}a \in a^2R$ . As  $a^\dagger = (u^{-1}a^2)^*$ , then  $a = aa^*(a^\dagger)^* = aa^*u^{-1}a^2 \in Ra^2$ . So,  $a \in a^2R \cap Ra^2$ , i.e.,  $a \in R^\#$  and  $a^\# = aa^*u^{-1}aa^*u^{-1}a = (aa^*u^{-1})^2a$ .

Therefore,  $a \in R^\# \cap R^\dagger$ .  $\square$

**Remark 3.4.** The right square  $*$ -cancellability of  $a$  in Theorem 3.3 above cannot be dropped. In fact, let  $R = \mathbb{Z}_4$  and let  $*$ :  $x \mapsto x$  be an involution of  $R$ . Then 2 is not right square  $*$ -cancellable, because  $1 \cdot 2^2 \cdot 2^* = 0 = 0 \cdot 2^2 \cdot 2^*$  but  $2 \neq 0$ . By a direct check, we get  $2 \notin R^\# \cap R^\dagger$ . However, there exist a projection 1 and a unit 3 such that  $2^2 \cdot 2^* = 0 = 3 + 1$  is both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition.

Recall that an element  $a \in R$  is EP if  $a \in R^\# \cap R^\dagger$  and  $a^\# = a^\dagger$ . A characterization of EP elements is that  $a$  is EP if and only if  $aa^\dagger = a^\dagger a$ . Finally, we give a characterization of an EP element in a  $*$ -ring.

**Theorem 3.5.** *Let  $a \in R$ . Then the following conditions are equivalent:*

- (i)  $a$  is EP.
- (ii) *There exist a projection  $p$  and a unit  $u$  such that  $a = p + u$  is both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition.*

*In this case,  $a^\# = a^\dagger = u^{-2}a = au^{-2}$ .*

PROOF. (i)  $\Rightarrow$  (ii) As  $a$  is EP, then  $u = a - 1 + aa^\dagger \in R^{-1}$  by [13, Corollary 1]. Since  $p = 1 - aa^\dagger$  is a projection, we have  $up = pu$  by direct calculations. Let  $b \in aR \cap pR$ . Then  $b = (1 - aa^\dagger)x = ay = (1 - aa^\dagger)ay = 0$  for some



$x, y \in R$ . Hence,  $aR \cap pR = (0)$ . So,  $a = p + u$  is both a strongly  $*$ -clean decomposition and a special  $*$ -clean decomposition.

(ii)  $\Rightarrow$  (i) Note that  $pa = ap$  and  $aR \cap pR = (0)$ . Multiplying  $a = p + u$  by  $a$  on the left yields  $a^2 = au$  and hence  $a = a^2u^{-1} \in a^2R$ . Multiplying  $a = p + u$  by  $a$  on the right yields  $a^2 = ua$  and hence  $a = u^{-1}a^2 \in Ra^2$ . So,  $a \in a^2R \cap Ra^2$ , i.e.,  $a \in R^\#$  and  $a^\# = u^{-1}au^{-1}$ .

As  $pa = ap$ , then  $pa^* = a^*p$ . Since  $aR \cap pR = (0)$ , it follows that  $ap = pa = 0$  and hence  $a^*p = pa^* = 0$ . Multiplying  $a = p + u$  by  $a^*$  on the left yields  $a^*a = a^*u$  and hence  $a = (u^{-1})^*a^*a$ . By [19, Lemma 2.2], we know that  $a$  is  $\{1,3\}$ -invertible and that  $u^{-1}$  is a  $\{1,3\}$ -inverse of  $a$ . Multiplying  $a = p + u$  by  $a^*$  on the right gives  $aa^* = ua^*$  and hence  $a = aa^*(u^{-1})^*$ . Again, from [19, Lemma 2.2], it follows that  $a$  is  $\{1,4\}$ -invertible and that  $u^{-1}$  is a  $\{1,4\}$ -inverse of  $a$ . Thus,  $a \in R^\dagger$  and  $a^\dagger = a^{(1,4)}aa^{(1,3)} = u^{-1}au^{-1} = a^\#$ .

Therefore,  $a$  is EP.  $\square$

## ACKNOWLEDGMENTS

The authors are very grateful to the anonymous referee for valuable notes and recommendations which greatly improved this paper. This research is supported by the Natural Science Foundation of Anhui Province (No. 1808085QA16), the Fundamental Research Funds for the Central Universities (No. JZ2018HG TB0233), China Postdoctoral Science Foundation (No. 2018M632385) and the Portuguese Funds through FCT- ‘Fundação para a Ciência e a Tecnologia’, within the project UID-MAT-00013/2013.

## References

- [1] S. K. Berberian, Baer  $*$ -rings, Springer, New York, (1972).
- [2] E. Akalan, L. Vaš, Classes of almost clean rings, *Algebr. Represent. Theory* 16 (2013) 843-857.
- [3] V.P. Camillo, D. Khurana, A characterization of unit regular rings, *Comm. Algebra* 29 (2001) 2293-2295.
- [4] J.L. Chen, Z. Wang, Y.Q. Zhou, Rings in which elements are uniquely the sum of an idempotent and a unit that commute, *J. Pure Appl. Algebra* 213 (2009) 215-223.
- [5] A.J. Diesl, Nil clean rings, *J. Algebra* 383 (2013) 197-211.

- [6] M.P. Drazin, A class of outer generalized inverses, *Linear Algebra Appl.* 436 (2012) 1909-1923.
- [7] M.P. Drazin, Pseudo-inverses in associative rings and semigroups, *Amer. Math. Monthly* 65 (1958) 506-514.
- [8] J.J. Koliha, P. Patricio, Elements of rings with equal spectral idempotents, *J. Austral. Math. Soc.* 72 (2002), 137-152.
- [9] W.K. Nicholson, Lifting idempotents and exchange rings, *Trans. Amer. Math. Soc.* 229 (1977) 269-278.
- [10] W.K. Nicholson, Strongly clean rings and fittings' lemma, *Comm. Algebra* 27 (1999) 3583-3592.
- [11] R. Penrose, A generalized inverse for matrices, *Proc. Camb. Phil. Soc.* 51 (1955) 406-413.
- [12] R. Puystjens, M.C. Gouveia, Drazin invertibility for matrices over an arbitrary ring, *Linear Algebra Appl.* 385 (2004) 105-116.
- [13] R. Puystjens, R.E. Hartwig, The group inverse of a companion matrix, *Linear Multilinear Algebra* 43 (1997) 137-150.
- [14] J. Šter, Lifting units in clean rings, *J. Algebra* 381 (2013) 200-208.
- [15] L. Vaš,  $*$ -clean rings; cleanness of some Baer  $*$ -rings and von Neumann algebras, *J. Algebra* 324 (2010) 3388-3400.
- [16] H.H. Zhu, Several characterizations for generalized inverses in a ring, *Linear Multilinear Algebra* 66 (2018) 1351-1361.
- [17] H.H. Zhu, J.L. Chen, P. Patrício, Further result on the inverse along an element in semigroups and rings, *Linear Multilinear Algebra* 64 (2016) 393-403.
- [18] H.H. Zhu, J.L. Chen, P. Patrício, X. Mary, Centralizer's applications to the inverse along an element, *Appl. Math. Comput.* 315 (2017) 27-33.
- [19] H.H. Zhu, X.X. Zhang, J.L. Chen, Generalized inverses of a factorization in a ring with involution, *Linear Algebra Appl.* 472 (2015) 142-150.